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N 3Bieuyr KOpeHb 13 oAHOUJIeHA (OykBamu 000O3HaUYEHBI
IIOJIOKHUTEJIbHBIC YUCJIA):

1) 3/asb?, 3/64x32°; 2) 3/a'b3, 3/1000a°b°.

HaiiTun nmpousBeaeHue:
1) Yab? -Va2b; 2) Ya?b* -Vab2.

HN3Biseub KopeHb M3 apobu:

1) 3(i, 4f§1, 5/32. 2) 3/125, 4}@, 3/%.
64 16 243° 216 16 27



o =

da

, eC/lU N - yemHoe

n
va" =a, ecau n- HeuemHoe

Va*=la|l =a,ecmua = 0

Va*t=la|l=—-aecmna <0

6\/ a® = |a|l =a,ecina =0

Jaé =la|l = —a,ecina < 0



[Mpumep:
Ynpoctute BblpameHme\/(x —2)% mpux>2 ,tx <2
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3anaHue:
1. YnpocTtuTe BbipaxeHue: \/32m* npum > 0

0)3/64n® npun < 0

2. Ynpoctute BblpameHmei/(x +1)4 ,ecnmyx > —1;
0) x < —1




